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Eileen is the owner of a care home.

She knows that the ratio of day time taff to residents must be at least 17
‘There are 8 day time staff and 32 residents in the care home.

Eileen thinks she has more than enough day time staff.

(@ IsEileen right?
Explain why you think this.
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Eileen wants to have the care home car park resurfaced.
She asks Mr Dunn to quote for the job.

Mr Dunn measures the car park.
Itis a rectangle 22 mby 17 m.
He knows the car park needs 100 mm thickness of concrete.
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Mr Dunn uses this formula to work out the amount of concrete he needs.

Volume (m) = Length (m) x Width (m) x Thickness (m)

() What volume of concrete does Mr Dunn need to resurface the car park?
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